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1.

2.

3.

PART—I

( GENERAL STUDIES )

How many three-digit numbers
are divisible by 5?

(A) 180
(B) 200
(C) 120

(D) More than one of the above
(E) None of the above

The value of

o)

is

(A) 605
(B) 300
(C) 405

(D) More than one of the above
(E) None of the above

The distance between Delhi and
Agra is 200 km. Suppose you
are travelling from Delhi to Agra
by a car. If you can maintain an
average speed of 90 km/hr for
120 km and 40 km/hr for the
remaining distance, how much
time will you take, on average, to
reach Agra?

(A) 3 hr 20 min

(B) 3 hr 30 min

(C) 4 hr 45 min

(D) More than one of the above
(E) None of the above
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4.

6.

10% loss on selling price is what
percent loss on cost price?

1
(A) 917 %

2
(B) 977 %

(C) 10%
(D) More than one of the above
(E) None of the above

A pizza boy delivered two-fifths of
his pizzas on day 1, three-fourths
of his pizzas on day 2 and % of

his pizzas on day 3. On which
day did he deliver the most
pizzas if he had the same
number of pizzas in the
beginning of each day?

(A) Day 1
(B) Day 2
(C) Day 3

(D) More than one of the above
(E) None of the above

The cost of carpeting a room
18 m long with a carpet 75 cm
wide at T 450 per metre is
¥ 810. The breadth of the room
is

(A) 7m
B) 75m
(C) 8m

(D) More than one of the above
(E) None of the above



PART—I
( GENERAL STUDIES )
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7. Two persons A and B complete a

8.

task in 15 days, when they work
together. Person A completes the
task in 20 days if he works
alone. How many days will B
take to finish the task alone?

(A) 35 days
(B) 25 days
(C) 60 days

(D) More than one of the above

(E) None of the above

The sum of the numerator and
denominator of a fraction is 11.
If 1 is added to the numerator
and 2 is subtracted from the
denominator, it becomes i The

fraction is

(A)

(B)

(€)

(D) More than one of the above

(E) None of the above
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10.

11.

12.

An isotropic source of 2 candela
produces light flux equal to

(A) 2w lumen
(B) 4n lumen
(C) 8m lumen
(D) More than one of the above

(E) None of the above

The spray bottles wused as
window or household cleaner or
perfume sprayer work on

(A) capillary action

(B) Bernoulli’s principle

(C) Pascal’s law

(D) More than one of the above

(E) None of the above

The trade name of basic lead
carbonate is

(A) white lead

(B) red lead

(C) litharge

(D) More than one of the above
(E) None of the above

Which of the following elements
has the largest atomic radius?

(A) Lithium

(B) Beryllium

(C) Boron

(D) More than one of the above

(E) None of the above
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13.

14.

15.

16.

The phenomenon
periodism  in
discovered by
(A) Garner and Allard

(B) Steward and Salisbury
(C) Thimann and Skoog

(D) More than one of the above
(E) None of the above

of photo-
plants  was

Silent Valley of
preserved because

Kerala is

(A) it contains very rare species
of plants and animals

(B) the soil is rich in minerals

(C) the areas of land were used
extensively for agriculture
purposes

(D) More than one of the above
(E) None of the above

During normal respiration in a
mammal, the diaphragm is

(A) arched

(B) flattened

(C) lowered

(D) More than one of the above
(E) None of the above

The most important cell type
associated with the immunity of
the body is

(A) platelets

(B) lymphocytes

(C) RBCs

(D) More than one of the above
(E) None of the above
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17. The book entitled, Gyan Deepak

18.

19.

20.

was authored by a great saint
(A) Salar Masood Ghazi

(B) Dariya Saheb

(C) Imam Shah Faqih

(D) More than one of the above

(E) None of the above

Which agency in India has
launched UTSAH portal?

(A) UGC

(B) AICTE

(C) MCI

(D) More than one of the above

(E) None of the above

A. P. J. Abdul Kalam Satellite
Launch Vehicle Mission was
launched on

(A) 13th February, 2023
(B) 20th February, 2023
(C) 19th February, 2023
(D) More than one of the above

(E) None of the above

In which city was the first
pure green hydrogen plant
commissioned?

(A) Hyderabad

(B) Mumbai

(C) Pune

(D) More than one of the above

(E) None of the above
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21.

22.

23.

24.

Which year has been declared
by the UNO as the International
Year of Millets’?

(A) 2023
(B) 2022
(C) 2024

(D) More than one of the above
(E) None of the above

Who among the following won
the 2022 Nobel Peace Prize?

(A) Ales Bialiatski

(B) Nadia Murad

(C) Maria Ressa

(D) More than one of the above
(E) None of the above

Who is the Chairman of the

State Commission for Backward

Classes appointed by the Bihar

Government on 2nd January,

20227

(A) Justice Sanjay Kumar

(B) Justice Balmiki
Sinha

(C) Justice Igbal A. Ansari

(D) More than one of the above

(E) None of the above

Prasad

Which was the first movie in

Bhojpuri?

(A) Ganga Maiya Tohe Piyari
Chadhaibo

(B) Kanyadan

(C) Nadiya Ke Paar

(D) More than one of the above

(E) None of the above
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25. Arrange the following thermal

26.

power projects of India from east
to west :

1. Kota

2. Namrup

3. Obra
4. Parichha
Select the correct answer

using the codes given below.

A 1,2, 3,4
B) 2,4,1,3
< 2,3,4,1

(D) More than one of the above

(E) None of the above

Which type of climate is in India
according to Trewartha?

(A) Savanna type

(B) Subtropical monsoon climate
(C) Mediterranean type

(D) More than one of the above

(E) None of the above
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27. What is the

28.

29.

normal date
of withdrawal of south-west
monsoon at Hyderabad?

(A) 1st October

(B) 15th October

(C) 1st November

(D) More than one of the above

(E) None of the above

Which of the following States
has maximum urbanization?

(A) Goa

(B) Maharashtra

(C) Karnataka

(D) More than one of the above

(E) None of the above

‘Malnad’ region is associated
with which of the following
plateaus of India?

(A) Telangana Plateau

(B) Maharashtra Plateau

(C) Karnataka Plateau

(D) More than one of the above

(E) None of the above
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30. South Peninsular Upland is a

31.

32.

part of

(A) Gondwana Land

(B) Laurentia Land

(C) Antarctica Continent

(D) More than one of the above

(E) None of the above

The percentage of population of
Bihar with respect to India’s
total population is

(A) 8:58%

(B) 10-10%

(C) 12:25%

(D) More than one of the above

(E) None of the above

Which of the following pairs
is not correctly matched with
respect to south of Ganga region
in Bihar?

(A) Patna-Munger

(B) Gaya—Arwal

(C) Patna-Vaishali

(D) More than one of the above

(E) None of the above

10 (AT
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33.

34.

35.

36.

Who is called the “Prophet of
New India’?

(A) Raja Ram Mohan Roy

(B) Dayananda Saraswati

(C) Dadabhai Naoroji

(D) More than one of the above
(E) None of the above

Which revolt is mentioned
in Anandamath of Bankim
Chandra Chattopadhyay?

(A) Sannyasi

(B) Santhal

(C) Indigo

(D) More than one of the above
(E) None of the above

Who was the founder of
‘Abhinav Bharat’ in London?
(A) Vinayak Damodar Savarkar
(B) P. M. Bapat

(C) Shyamji Krishna Varma
(D) More than one of the above
(E) None of the above

Where was the Ghadar Party

established?

(A) France

(B) Germany

(C) United States of America
(D) More than one of the above

(E) None of the above
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37. Who was appointed as the
‘Commander in Chief’ by Birsa
Munda?

(A) Demka Munda

(B) Gaya Munda

(C) Sundar Munda

(D) More than one of the above
(E) None of the above

38. Who formed the Bihar Socialist
Party?

(A) Phulan Chand Tiwari and
Rajendra Prasad

(B) Phulan Prasad Varma and
Jayaprakash Narayan

(C) Raj Kumar Shukla and
Swami Agnivesh

(D) More than one of the above

(E) None of the above

39. In which year was the Bihar
Provincial Congress Committee’
formed with its headquarters at
Patna?

(A) 1908

(B) 1910

(C) 1906

(D) More than one of the above
(E) None of the above

40. Who established a branch of
the Anushilan Samiti in Patna
in 1913?

(A) Ramananda Sinha
(B) Satish Jha
(C) Sachindra Nath Sanyal
(D) More than one of the above
(E) None of the above

12 (e
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41.

42.

18/HV/M-2023-18 PHIL (HS)/30-A

PART—II

( PHILOSOPHY )

Who said, ‘‘Pessimism involves in 43.

all Indian physical and spiritual
life”?

(A) Radhakrishnan

(B) Aurobindo

(C) Ronaldshay

(D) More than one of the above

(E) None of the above

The bad effect of pessimist life
falls on which of the following
aspects of human life?

(A) Practical life

(B) Social life

(C) Political life

(D) More than one of the above

(E) None of the above

44.

Who of the following accepts
‘Bhutachaitanyavada’?

(A) Bauddha

(B) Charvaka

(C) Jaina

(D) More than one of the above

(E) None of the above

Which of the following is not the
part of Dwadash Nidan Chakra?

(A) Craving

(B) Consciousness

(C) Sense contact

(D) More than one of the above

(E) None of the above
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PART—II
( PHILOSOPHY )
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42 m ;lf”%ﬂg giﬂ;i 4. P 3 & F-m g e
T 37 T 9T A 27
(A) RIS S (A) g
(B) @ISR Sfta (B) formm
(C) TsHifere S (C) et
(D) 37 | O wH ¥ Al (D) 3w U | UH A Al
(E) 3w & § &g e (E) 3w & § &g e
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45.

46.

47.

Who among the following is the
author of Pramanasamuchachaya ?

(A) Nagarjuna

(B) Vasubandhu

(C) Dignaga

(D) More than one of the above

(E) None of the above

Which of the following is not main
critic of Syadvada?

(A) Bauddha

(B) Naiyayika

(C) Mimamsaka

(D) More than one of the above

(E) None of the above

Which of the following
propounded Madhyam
Parinamavada?

(A) Jaina

(B) Bauddha
(C) Nyaya
(D) More than one of the above

(E) None of the above

18/HV/M-2023-18 PHIL (HS)/30-A

48.

49.

50.

Which of the following is not
correctly matched?

(A) Samkhya —

Prakritiparinamavada
(B) Shamkar — Vivartavada

(C) Yogachar — Shunyata
Vivartavada

(D) More than one of the above

(E) None of the above

According to Samkhya in the

process of development, which of
the following elements originated
first?

(A) Mind
(B) Intellect
(C) Ego

(D) More than one of the above

(E) None of the above

Which one of the following is not
the part of Desh Mahadesh?

(A) Satya

(B) Ahimsa

(C) Raga

(D) More than one of the above

(E) None of the above
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45. fFfafead ¥ 9 -9 THOEG=T

46.

47.

o 87

(A) RTA

(B) =gy

(C) fewm

(D) 3w # ¥ TF ¥ 31fae
(E) 3% & & %3 Tei
Ffafgd & ¥ &9 wgER w1 g
A= TE 87

(A) 5

(B) =R

(C) e

(D) 3w & § T 9 M
(E) 30 4§ ¥ HI5 T

fefafas & @ wF-=n
gfumgare’ w1 gfdared sdn 87

“qeIm

(A) SH

(B) @5

(C) =

(D) 37 & & v & wiferw
(E) o & & % 7

18/HV/M-2023-18 PHIL (HS)/30-A

48. Tfafgd & & *H-a1 w8t gufad ==&t

49.

50.

37
(A) g — yfaufomars
(B) wiert — foadare

(C) =R — wran fedare
(D) 39w | ¥ UH ¥ M+
(E) 37w # @ #i3 T

e % IgER, faem ufem #
frfafed & 9 #H-w1 YoM @ 3
g RY

(A) =

(B) =fq

(C) ¥rEn

(D) 39 W | TH ¥ Afeh
(E) 3udw & & =g T

ffafias @ @ ®H-91 % <@ ARRw
T I AL 27

(A) g

(B) wfém

(C) wm

(D) T & & wF & wferm
(E) 3w & & % 7
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§1. ‘Adrisht’ is accepted in which of S3. Which one of the following is not

the following philosophies? the part of ‘Prasthanatrayi’?
(A) Nyaya (A) Ramayan
(B) Yoga

(B) Upanishad

(C) Samkhya
(C) Brahmasutra

(D) More than one of the above
(D) More than one of the above

(E) None of the above
(E) None of the above

52. Which of the following is not

correctly matched? 54. According to ShamkKar,

Aparokshanubhuti is accepted for
(A) Viparit Khyativada —

Kumarila (A) proof for existence of God

(B) Anyatha Khyativada —

_ (B) proof for existence of world
Ramanuja

(C) Satkhyativada — Samkhya (C) proof for existence of Self

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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51. ‘argp’ Ffcifgd # & fopm =w9 # 53. fymfafad § @ #9-01 6 TR

Tt T 27 1 9T TE 27

(A) == (A) TEET

(B) = (B) 37l

(C) @i (C) &g

(D) 3w # W U W Aferh (D) 30 # & U @ e
(E) 3%t H & *1¢ e (E) 3T & & =18 e

52. Frefafad § & FW-a1 v Ty T@ 54. Y ¥ oWER, OWEmEf &

2t ISR DI

(A) fowtia wanfoare — i (A) $ver i T & fotw yomor
(B) 1= wnfoeme — s (B) SmTq <t w=T % fow ywmor
(C) aqeftare — e (C) @rern 1 Frt o fere srmmor
(D) 39 U 9 UH A Afh (D) 39 W | TH § Afeh

(E) 3w ® § &g e (E) 3w & § &g T
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SS.

S6.

57.

According to
‘Aprithak-Siddhi
between

Ramanuja,
Sambandh’ is

(A) Brahma and Jagat

(B) Brahma and Jiva

(C) Jiva and Maya

(D) More than one of the above

(E) None of the above

Which one of the following is not
related to ‘Madhvacharya’?

(A) Bhedvadi

(B) Yatharth Dvaitavadi

(C) Awatarvadi

(D) More than one of the above

(E) None of the above

Which one of the following is not
correctly matched?

(A) Nimbark — Sanak

Sampradaya
(B) Ballabh — Sri Sampradaya

(C) Madhav — Brahma

Sampradaya
(D) More than one of the above

(E) None of the above

18/HV/M-2023-18 PHIL (HS)/30-A

§8. First time the difference between
Truth and Opinion found in the
philosophy of
(A) Xenophanes
(B) Zeno
(C) Melissus
(D) More than one of the above
(E) None of the above

59. Which of the following is not
correctly matched?

(A) Phaedrus — Supreme Being
(B) The Symposium — Supreme

Beauty
(C) Republic — Idea of Good
(D) More than one of the above
(E) None of the above

60. Which one of the following
philosophical methods is not
accepted by Descartes?

(A) Sceptical
(B) Deductive
(C) Inductive
(D) More than one of the above
(E) None of the above
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SS.

S6.

57.

A o TJER, gUE-fafg awra
forrer o= 27

(A) & 3R S

(B) @ 3R Sfta

(C) Sfa 3fi 7

(D) 3w & § wF ¥ Afeeh
(E) 3w ® § %I5 71

ffafiaa & @ s9-o1 s ‘qeaEE’ @
gref-ga Tt 27

(A) weardt

(B) =remef Saamdt

(C) SHIardTE!

(D) = & & U @ st
(E) 37 ® ¥ #IE &l

frefafaa & @ &F-a1 t wd gafad
& 87

(A) fiwseh — o gFIem™
(B) gy — =it voem

(C) mya — s& gvIe™
(D) 393t & & T 9 31k
(E) 37 & ¥ 18 e

18/HV/M-2023-18 PHIL (HS)/30-A

S8.

59.

60.

J9H &R Hegar (Truth) 3R @4
(Opinion) & = g4 9g foreh g o
T BIal &7

(A) SHIEAS

(B) S

(C) #fera™

(D) = & & ws @ s
(E) 39 ® ¥ #IE

frafafaa & @ #9-@1 % o gafaa
& 87

(A) digg — v oq

(B) 7 farmiforrm — wm ded
(C) fafsers — 9 =1 g
(D) 3w W | TH § Al

(E) 3w ® € %5 Tl

fefafgg 4 @ s9-dt @ TRt
Tgfd ST o I TR & TS 27

(A) HETH

(B) frmTeH®

(C) ATHATHS

(D) 39w W & TH § Al
(E) 3w H § %5 781
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61.

62.

Who among the following not
supports ontological argument for
poof existence of God?

(A) Aquinas

(B) Anselm

(C) Descartes

(D) More than one of the above

(E) None of the above

Who said, ‘“‘For being philosopher
first of all would be the pupil of
Spinoza’’?

(A) Hume

(B) Kant

(C) Locke

(D) More than one of the above

(E) None of the above

18/HV/M-2023-18 PHIL (HS)/30-A

63. Who among the following believes

64.

in law of the conservation of
energy?

(A) Descartes

(B) Spinoza

(C) Leibniz

(D) More than one of the above

(E) None of the above

Which one of the following is not
correctly matched?

(A) Descartes — Interactionism

(B) Spinoza — Official theory

(C) Leibniz — Pre-established

harmony

(D) More than one of the above

(E) None of the above
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61. TH ¥ HM TR fEdcd H AR

62.

Itk 1 T TE Al 27

(A) ufermma

(B) TicH

(C) ==

(D) 39w | ¥ TH ¥ M

(E) 37 & ¥ =18 e

frad wer @ “enife @R % fou
gavy foesT 1 R g gem’?

(A) &r

(B) =12

(C) wih

(D) 30w 4 | TF ¥ Af4eh

(E) 37 & ¥ =18 e

18/HV/M-2023-18 PHIL (HS)/30-A

63. T ¥ HM fh & wew | J fowam

64.

Far 27

(A) %

(B) feurism

(C) et

(D) 39w W | TH § Afeh

(E) 39 ¥ HIg T2

ffafied & 9 #F-w1 & @@l gafaa

T 27

(A) 2 — 3tea:fspamame

(B) feomsn — siferpa forgrea

(C) Fmafst — qa-Tonfod amese

(D) 39w | ¥ UH ¥ M

(E) 37 & ¥ 18 e
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65.

66.

67.

Which one of the following is not
related to Berkeley?

(A) Solipsist

(B) Pantheism

(C) Subjective idealistic

(D) More than one of the above

(E) None of the above

Who among the following accepts
Time and Space as unreal in the

view of transcendental as

Shamkar?

(A) Hume

(B) Kant

(C) Locke

(D) More than one of the above

(E) None of the above

Who among the following accepts,
“Man is

universe’’?

the measure of the

(A) Bradley

(B) Peirce

(C) John Dewey

(D) More than one of the above

(E) None of the above

18/HV/M-2023-18 PHIL (HS)/30-A

68.

69.

70.

According to Wittgenstein, Ethics
and Aesthetics are not

(A) transcendental

(B) mystical

(C) silence

(D) More than one of the above

(E) None of the above

Who among the following is the
author of Problems of Political
Philosophy?

(A) D. D. Raphael

(B) John Hospers

(C) L. M. Copi

(D) More than one of the above

(E) None of the above

Who among the following accepts
that the implementation of justice
is the main aim of State?

(A) Aristotle

(B) Plato

(C) Socrates

(D) More than one of the above

(E) None of the above
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65.

66.

67.

fefafad & @ ®H-T1 T gohd 9
gref-ga Tt 27

(A) STEHTHETE

(B) weivaaal

(C) STenfTs Jeamat

(D) v & & ik
(E) 3udwh # & ié T

Y ¥ I THTEE & GHH -
%I URAETE g ¥ sraTEdfash TR
77

(A) =™

(B) =12

(C) <=

(D) 39 H © TF ¥ A
(E) 3w ® € Hi5 721

T A P ea 7 ags oA
forga =1 w9 < WA T R7Y

(A) s

(B) foerd

(C) & 3T

(D) 30w & & UF & e
(B) 3w & & IS &

18/HV/M-2023-18 PHIL (HS)/30-A

68. fagier & ogar, Hfdkar iR

69.

70.

(A) srcfifs=

(B) wETcHR

(C) #@H

(D) = & & w @ st
(E) 393w & & 15 7

T W B Jleodrd 3F  GiicaehdT
foeTigis! s i@ 27

(A) <o o THIA

(B) S wiewd

(C) =go THo =il

(D) = & & ws @ s
(E) 30w § 9 &ls T2

T ¥ M Werdl & o6 U9 &1 g&
I A FH AT BT 27

(A) 3TT&q

(B) wie

(C) g*ta

(D) = & & U @ s
(E) 30w § | &Is T
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71. Who among the following said, 74. Which one of the following is not

“Democracy is a government of the part of minority rights of
fools™? Kymlicka?

(A) Socrates (A) Self-government

(B) Plato (B) Polyethnic rights

(C) Aristotle (C) Right to representation

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

75. Which one of the following is not
the permanent condition of social

72. Who among the following said,

““Socialism is a society in which

. change in the view of Maclver and
all are workers in a classless

. 9 (7
society’’? Page

(A) M. N. Roy (A) Physical environment

(B) J. P. Naravan (B) Cultural order

(C) C.E. M. Joad (C) Social structure
. E. M. Joa

(D) More than one of the above
(D) More than one of the above

(E) None of the above
(E) None of the above

76. Which one of the following is not

73. Who gave the slogan, ‘“To believe, the part of concept of changes in

to obey, to combat™? Indian society as per Srinivas?

(A) Marx (A) Secularization

(B) Lenin (B) Westernization

(C) Mussolini (C) Democratization

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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71.

72.

73.

T ¥ forad wa1 @ dhas q@l w
e g7

(A) g

(B) @

(C) &

(D) T & & w & wfew
(E) o & & % 7

T A R w1 ® aHieEe wh
st 2, o e ot e e § wsft
syfereh g 877

(A) THo TWo T

(B) Sto dto TREW

(C) #io go THo STE

(D) 30 § ¥ TF ¥ afren
(E) 30 § ¥ %15 T

“forgama =, AT T GOH B, AqS
o1 A forea feam?

(A) ==

(B) <fH

(C) Fafer

(D) v & & wF & e
(E) 37w # @ =g T
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74. T % orgEr, fefafead d@ @

75.

76.

HH-TT Teh ATET D & AUHR hl
3 & 27

(A) Ta=mEd

(B) SESHSIAR AR

(C) wfafferea =1 stferrr

(D) 3w | © T ¥ 2Afeek

(E) 3 | ¥ 15 e

Aprgel qon UST A gfE | AT
e &1 F=faflas @ @ -1
Tt e =gt 27

(A) fifoes qafaro

(B) HEHiaeh =awen

(C) wrmfork =T

(D) 39w & & T T Ak
(E) 3w & & &15 T

fifeE & ogEr, fefafaa @ @
HH-H IR gES # giEdd R
ST TE 27

(A) enifrAsfi

(B) i

(C)

(D) T & & T & wiferm
(E) o & & % 7
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77. Who among the following accepts 80.

78.

79.

18/HV/M-2023-18 PHIL (HS)/30-A

world is Lila (play)?

(A) Charvaka

(B) Jaina

(C) Samkhya

(D) More than one of the above

(E) None of the above

The type of explanation of

Buddhism given by Dr. Ambedkar 81.

is named as

(A) Navayan

(B) Vajrayan

(C) Hinayan

(D) More than one of the above

(E) None of the above

82.

What is the difference between

Bauddha and Jaina religion?

(A) Avaidik

(B) Aesthetic

(C) Metaphysics

(D) More than one of the above

(E) None of the above

Which of the following is not
included element of Liberation
Path according to Sikkh?

(A) Self-pray

(B) Guru order

(C) Name remember

(D) More than one of the above

(E) None of the above

‘Japuji’ is related with

(A) Bauddha

(B) Sikkh

(C) Jaina

(D) More than one of the above

(E) None of the above

Which one is not the characteristic
of mystical experience according
to William James?

(A) Transiency

(B) Passivity

(C) Cognitive

(D) More than one of the above

(E) None of the above
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77. Tfafad @ 9 ®F SETq w6 e (Td)

78.

79.

TeffehTear 27

(A) =mai®

(B) S

(C) @iEa

(D) 393t & & T 9 31k
(E) 37w # & =g e

glo 3TrIEHR R olg o™ it o dE
e R A g, 39 A e T R

(A) d=E

(B) @™

(C) #m

(D) 3T & & wF & st
(E) 3w & & % 7

g 3T S o | F1 AW 27
(A) sdfeen

(B) wr=ma

(C) derimiEn

(D) 30 6 | TF § Al

(E) 37 & ¥ 18 e
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80. fe@ @ 31gaR, FMwfdfiad § ¥ &H-d1

81.

82.

e wnt % a § gwifed @ 27
(A) Tt |men

(B) T e

(C) T T

(D) 3w # & uF @ e
(E) 393w & & 15 7

‘St T wE R

(A) =g @

(B) forra &

(C) =&

(D) 393t o & T 9 31k
(E) 3w # & &g T

faferm Siew o SgER, Wi
frafafiga & @ wF- = T =&
37

(A) &UTTRe

(B) fisaman

(C) \FHTHFAT

(D) 39w | ¥ UH ¥ 1M
(E) 37 & ¥ 18 e
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83.

84.

8S.

Theological argument for

immortality of Soul is accepted by
(A) A. E. Tailor

(B) Kant

(C) Aquinas

(D) More than one of the above

(E) None of the above

Which of the following Articles of
the Indian Constitution contents
the sense of secularism?

(A) 10
(B) 11
(C) 15
(D) More than one of the above

(E) None of the above

Who said, “We do not want a
new religion but we need a new
and enlarged understanding of the
old religions™’?

(A) Mathews

(B) Gandhi

(C) Vivekananda

(D) More than one of the above

(E) None of the above

18/HV/M-2023-18 PHIL (HS)/30-A

86.

87.

88.

The author of The Essential Unity
of All Religions is

(A) S. Radhakrishnan

(B) Dr. Bhagwan Das

(C) Gandhi

(D) More than one of the above

(E) None of the above

Who among the following did not
support Gyan Marg of Shamkar?

(A) Tagore

(B) Vivekananda

(C) Aurobindo

(D) More than one of the above

(E) None of the above

Which one of the following does
not accept testimony as Pramana?

(A) Vaisheshika

(B) Jaina

(C) Samkhya

(D) More than one of the above

(E) None of the above
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83.

84.

8S.

ATeHT hl STHEAT h1 SYRATE! deh TolehiT
™’

(A) To Fo TR FW

(B) =123/

(C) ufem@ 3

(D) 39w & & T T ek
(E) 393w & & &5 7

frfafaa & & frr wwd w@fam &
A= U guiiear 1 Wi Ffed 87

(A) 10

B) 11

(C) 15

(D) T & & T & wiferw
(E) 37 & & % 7

free war 2, ‘g0 TRt W o
T et % T i geq g A7

(A) Fegs

(B) wifeft

(C) foerm=

(D) = & & U @ e
(E) 30w § | s T
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86.

87.

88.

R o afid s s R
Gh B

(A) THo THTHIH

(B) Sfo WM @

(C) ieft

(D) 39w & & T T Al
(E) 3w & & &15 Te

Y 4 fF T o I AT enedd
EERERIIIN

(A) &R

(B) focemm=

(C) exfe=

(D) 30 § ¥ TH ¥ Afren
(E) 30 § ¥ HI5 T

Fafafaa & 9 FH-91 T reeymET
THT % &Y T AE SRR 27

(A) I

(B) S

(C) @iE

(D) 3w # & & i
(E) 37dw # @ =g T
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89. Which one of the following is not
the stage of Chitta?

(A) Kshipta

(B) Vikshipta
(C) Mudha
(D) More than one of the above

(E) None of the above

90. Nyaya philosophy explains the

illusion on the basis of

(A) Pratyabhigya

(B) Samanya Laxan

(C) Gyan Laxan

(D) More than one of the above

(E) None of the above

91. Which of the following is not

correctly matched?

(A) Bauddha — Paratahpramanya

(B) Nyaya — Paratahpramanya

(C)

Mimamsa

Swatahpramanya
(D) More than one of the above

(E) None of the above

18/HV/M-2023-18 PHIL (HS)/30-A

92. Which one of the following is not

correctly matched?

(A) Thales — Water

(B) Anaximenes — Air

(C) Pythagorus — Fire

(D) More than one of the above

(E) None of the above

93. Who the

philosophers called Philosophy as

among following

science of sciences?

(A) Socrates

(B) Aristotle

(C) Plato

(D) More than one of the above

(E) None of the above

94. Who the
propounded privative

Evil?

among following

theory of

(A) Augustine

(B) Aquinas
(C) Bacon
(D) More than one of the above

(E) None of the above
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89. Tl & @ =H-# ww fom &

90.

91.

e TE &7

(A) ferm

(B) fafarm

(C) 7@

(D) 3w & § wF ¥ Afeeh
(E) 3w ® § %I5 71

= <3 9\ S T TR SR W
AT 27

(A) et

(B) @I e

(C) I &

(D) I & & Tk @ =i
(E) 37 ® ¥ #IE &l

Ffafga § @ SH-|1 98 gafaa T8
&7

(A) drg — wa: g =
(B) =t — wd: g
(C) oo — wa: s =3
(D) 393t & & T 9 31k
(E) 3w | § %5 781
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92. fmafafaa # @ ®F-w = wd gafera

93.

94.

T 27
(A) Iefist — s
(B) fromdist — arg

(C) grgoma — s1fi
(D) 39w | ¥ TH ¥ M=
(E) 37d & & =18 e

=9 9 ford ewifae 3 o3 =t foagm @
o a1 S 27

(A) g&HTd

(B) 3m&q

(C) =i

(D) 39w | ¥ TH ¥ M
(E) 3w ® € %5 Tl

T U B YW F AYETR g
1 feqare st 87

(A) STTETEH

(B) Ul

(C) S

(D) 393t & & T 9 31k
(E) 3w ® § &g e
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9s.

96.

97.

Cosmology of Spinoza is similar to

(A) Ramanuja Brahma
Parinamavada

(B) Shamkara Vivartavada

(C) Samkhya-Prakriti
Parinamavada

(D) More than one of the above

(E) None of the above

Which one of the following is not
correctly matched?

(A) Locke — Representationist
(B) Berkeley — Presentationism

(C) Vaibhashik —

Bahyanumeyavad
(D) More than one of the above

(E) None of the above

Who among the following is not
anarchist philosopher?

(A) Proudhon

(B) Popper

(C) Bakunin

(D) More than one of the above

(E) None of the above
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98.

99.

100.

Who among the following says
that, “‘Social change is called the
change in social structure’?

(A) Maclver and Page

(B) M. Johnson

(C) M. N. Srinivas

(D) More than one of the above

(E) None of the above

Which one is not the part of

Religion according to Josiah

Royce?

(A) Behavioural

(B) Emotional

(C) Scientific

(D) More than one of the above

(E) None of the above

Which one is not the stage of

Karma according to Jainism?

(A) Syadvada

(B) Samvar

(C) Ashrava

(D) More than one of the above

(E) None of the above
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95. formT & giy-Hwan foraes gu= 27 98. frfafaa @ @ forea e @ ““amfsies
qigds amifeer =T # ufadd Wl

(A) THTES s&l gioTHeTe Fed &7

(B) v foadare (A) HepTgaR 3R U

(C) wrea-uafd gionHaTe (B) wHo &

(D) 3w & ¥ w @ afeek (C) THo To #fifam™

(E) e & % 7 (D) S H ¥ H At
(E) S H 9 i3 T

96. MHfad § ¥ HH-|1 T Fel gl

& 27 99. SifeEnm WA F IPER, "H W
Frefafaa & @ -9 us ey T 27

(A) s — wfafifercaare
(A) @R

B _

(B) sehet — qleHaTe (B) wTaTcHS

(D) 3wt § T 4 Ifereh (D) 3w & A st

(E) 3w & 9 18 7t (E) 37 & & 18 e

97. TH ¥ TN IISIHATETE! el TE 37 100. 57 o % SgER, FH FH A e

TE 27

A) =

(A) % (A) =g

(B) = (B) @<

(C) =g (C) =

(D) 3% # & wh 4 ik (D) 3R & & u ¥ wfa

(E) 37 & ¥ =18 e (E) 37 & & =18 e
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101. According to Nyaya philosophy, 104. There is smoke on the hill, since
the source by which Prama smoke is always accompanied by
obtained, is known as fire, therefore, the hill must have

fire too.
(A) Pramana
Which of the following
(B) Pratyaksha corresponds to the Middle Term
(Hetu) in the above argument?
(C) Anumana
(D) More than one of the above (A) Fire
(E) None of the above
(B) Hill

102. Which among the following is not
recognized by Nyaya philosophy? (C) Fiery Hill
A) Laukika Pratyaksh
(A) Laukika Pratyaksha (D) More than one of the above
(B) Alaukika Pratyaksha

(E) None of the above
(C) Savikalpa Pratyaksha
(D) More than one of the above
105. Which among the following is true
(E) None of the above about the indeterminate perception
of Nyaya?

103. Which one of the following is a
case of invalid knowledge (A) Its feeling is logical
according to Nyaya?

(A) Horns of Hare (B) Its feeling is psychological
(B) Tarka . . )
(C) Its knowledge is philosophical
(C) Blue pot
(D) More than one of the above
(D) More than one of the above
(E) None of the above (E) None of the above
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101. =™ 239 % orgEr &, fas 3w 104. werEl W geaf 7, i gm gar g gHem

‘gar’ wTe foRT ST €, 3@ hed @ M % 9y, gafery, TErEl H oo o)
=il

(A) vH19 ffafes @ @ -9 SWE 9% H

?

®) s 7 U (3g) ¥ U WraT B

(C) AgaH (A) =

(D) 39w | ¥ TH ¥ M
(B) fe=

(E) 3w § | whIE A2

‘ (C) firertt fet
102. f=fafaa & 4 e =@ o=@ g@

Il I T 87
(D) 39w | ¥ UH ¥ 3"

(A) <hiferesh geaer

(B) e wem (E) 3 5 & e

(C) wfdehen geaex

(D) SHF # ¥ T ¥ AE 105. i & @ - = ) SR

(E) 3w § | =I5 2 T o oR T | 77
103. =M % FgER W §M, frefataa 3 (A) SE i AT 2
Y HH-|1 AHAT 27
(A) @i % € (B) @Rt gy wemes 8
(B) (C) THeh! I STeifa 2
(C) e ==

(D) 39 | O wF ¥ A
(D) 39w | ¥ UH ¥ M

(E) 37 & & =18 e (E) 37 & ¥ =18 e
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106. According

107.

to Nyaya, Upamana

gives us knowledge about

(A) two similar Vastus in the
world
(B) the relation Dbetween the

Vacaka and the Vacya meant
by it

(C) similarity in the uses of words

(D) More than one of the above

(E) None of the above

According to Nyaya-Vaisheshika
logic, which one of the following
represents the correct sequence of
the five members of syllogism?

(A) Hetu,
Upanaya, Nigamana

Udaharana, Pratijna,

(B) Pratijna,
Nigamana, Upanaya

Udaharana, Hetu,

(C) Pratijna, Hetu,
Udaharana, Nigamana

Upanaya,

(D) More than one of the above

(E) None of the above
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108.

109.

According to Nyaya school,

Anumiti is possible without

(A) Paksha-jnana

(B) Apaksha-jnana

(C) Paramarsha-jnana

(D) More than one of the above

(E) None of the above

Which Indian philosophy does not
agree to the view of the eternal
relationship between word and
meaning (Pada and Artha)?

(A) Charvaka

(B) Buddhism

(C) Jainism

(D) More than one of the above

(E) None of the above
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106. =T % TR, U TH foheeh am #

107.

FH <1 87

(A) 3 31 o avg

(B) /i 3R zH® AhWG a=a &
ot gy 2

(C) =&l & T | ST

(D) 39w | ¥ UH ¥ M

(E) 3w § | =I5 2

-39 7 % e, frefafe &
 F-u1 fyenfoey & ui= gee & g
3T o1 Ufdfafere st 27

(A) g, 3arew, yiaw, 3o, e

(B) wfasm, 3areww, =g, fme, 3o

(C) i, ¥q, 39, arewo, frme

(D) 3W® | ¥ UH ¥ M+

(E) 37 & & 18 e
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. I 9EME % IIER, gfd wva

g formm

(A) 9&-IH &

(B) =T9&1-IH &

(C) wwel-I= =&

(D) 39w | ¥ UH ¥ M+

(E) 30 4 ¥ HI5 T

. HE-U1 I @, e AR Y (1]

AR A7) & g IvEd Ty & foER
© HgHa A€ 87

(A) =mdies

(B) g o

(C) 9 uH

(D) 393t & & T 9 31k

(E) 37 & ¥ =18 e
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110. Satkaryavadin said

111.

(A) the effect is a new

appearance from the cause

(B) the effect is identical with the

cause

(C) the effect is useless in the

cause

(D) More than one of the above

(E) None of the above

Purushartha order indicates

(A) Karma, Artha, Dharma, Duty

(B) Dharma, Artha, Kama, Moksa

(C) Dharma,
Sadhana

Karma, Moksa,

(D) More than one of the above

(E) None of the above
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112.

113.

114.

According to Kumarila Bhatta, the

relation between word and

meaning is

(A) identity

(B) continuity

(C) identity in difference

(D) More than one of the above

(E) None of the above

Anekantavada means

(A) manyness of God

(B) manyness of reality

(C) manyness of individuality
(D) More than one of the above

(E) None of the above

According to Aristotle, we arrive
at the concept of universal by a
process of

(A) realization through meditation
(B) spirituality and validity

(C) perception and apperception
(D) More than one of the above

(E) None of the above
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110. ‘GcwprEarfed’ ed @

(A) M FRU W TH T EET 2

(B) e (1) 0T o @M B

(C) ol & d =99 2

(D) 39w | ¥ TH ¥ M

(E) 30 § ¥ HI5 T

111. ‘gewrd’ w9 3fa a2

(A) =, 1, o, Fdex

(B) e, 31f, =, Wy

(C) o, d, W&, FremT

(D) 39w | ¥ UH ¥ M+

(E) 37 & ¥ =18 e
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112. FAIRA 9g % IgER, 8 IR 19 &

113.

114.

e Ty R

(A) &=

(B) fFaxa

(C) IR H qga™

(D) 3w # & U O e
(E) 399 & & &g e

‘Idqare’ w1 31 ?
(A) W i AT

(B) ameafashar sl STehdl
(C) =afthea Y Fehall

(D) 39w & & T T Al
(E) 3w ® ¥ &5 T

W& h AR, B H
ufsran g grEsifyes & sEumon w®@

Tgad 2|

(A) &IH & "I § iy

(B) smeafedehar 3R Ser
(C) ¥ea& 3R 3fa- T
(D) 393t & & T @ 31k
(E) 30 § ¥ #1570
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115.

116.

117.

Which
schools rejects Anumana as a valid

among the following

source of knowledge?

(A) Nyaya

(B) Vaisheshika

(C) Buddhism

(D) More than one of the above

(E) None of the above

Who is produced before Trishna
according to Buddha?

(A) Vedana

(B) Upadana

(C) Namarupa

(D) More than one of the above

(E) None of the above

According to Nyaya school,
Vyatireki-vyapti between Hetu and

Sadhya obtains when

(A) all cases of Hetu are cases of
absence of Sadhya

(B) some cases of Hetu are cases
of Sadhya

(C) some cases of Sadhya are
cases of Hetu

(D) More than one of the above

(E) None of the above
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118.

119.

120.

Who among the following was
obsessed with the intellectual love
of God?

(A) Descartes

(B) Spinoza

(C) Leibniz

(D) More than one of the above

(E) None of the above

Who is Sat-Cit-Ananda according
to Samkara?

(A) Parabrahma

(B) Brahmanda

(C) Avatara

(D) More than one of the above

(E) None of the above

The formula of the end-in-itself is
a Kantian ethics enjoin us to treat

a person
(A) always only as an end

(B) sometimes as an end

(C) never simply as an end

(D) More than one of the above

(E) None of the above
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115. F=fafgd § § SH-81 98EE Sgae 118. 3 ¥ =M ¥ & diftgh Y9 ¥ T&

F JH F TF 99 Gid & T T FEHFHR or?
FAT 27
(A) S
(A) ==
(B) 9t (B) feris
(C) =g =d (C) waft
(D) 3w | © wH ¥ Atk (D) 3w & § T ¥ M
(E) 3w ® € Hi5 71 (E) 3wt # @ =1$ e
116. giw,wﬁ%ﬁ%mﬁm 119, i 35 e, oo A B
(A) & (A) 9T &
(B) 3ueH (B) s&nE
(D) 3wt & & T § e1feren (D) 37w & & v & o
(B) 5w & 3 e 7 (E) 3w § | wIs e
117. = 9WEE & ITOR, Afdeh-S,
Tg 3R Tex & st %9 9T gar 27 120. 370-T9 & §F TH FifeAA Afdeal T,
ST gl UH ARk & FAER A
(A) 5@ g & wft Ama W #A Al ol
: I AT
srufedrfa o amet 8
¢ (B) =weft-=poft 3td & w0 &
© ?WH%@W%@%W (C) ot e i 3 = A 7
(D) 3w & § TF 9§ M (D) 3w & © wh ¥ Afeeh
(E) 37 & ¥ 18 e (E) 37 & & =18 e
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SHEEER T 3TIhuTh
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T -Gt
TTHTT 3TETI TS S
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(w292 (ot : 120 ]

9T o I 4§ UEe Ao Tor@ TSI i &aH 9 Ug W |

el ITew

. I8 Te-gfeqert @ 9rn # fafsd 2, 9r-1 vd w111 9eT-1 § 9T s1eaas aot 9e-11 # g9iAeme s T 2

2. 9M-I 8 T3 &1 1 § 40 T 991 WI-II § U3 §&a1 41 9 120 o & | g+t T97 31X 37k I s ua f2=dt

10.

11.

12.

13.

14.

# gisa ¥

. |t g % s wAE 2
. 9W-1 Td 9W-I1 & T % W S|
. TReT STV EA F ST S7ut Wy -gfeaent i Wi W 3@ o foh 30 S qEfl 3R v -gfeaet i gwen

gfsa # 1 wuen wite o T gitaert 4 W w@ ¥g 9R USi (98 Ho 44 ¥ 47) A R 48 Gizd Yz ¥ ik &g
T AT Y T ST gan A1 e gan A1 Srawn A g At A ¥ 1 Yieaswr # fonelt weRn i g ur w Aewr

mmwmaﬁwwwaa.

. 39 U8 & W Hgia T0W § A9 TgwEh 3wy ford | - WS 39 A fow)
. T % IW 4 U mmuent et gRT Ter ¥ I U o SR et W Uk o s-1 W fFuife wum @

JUAT AT, ITHATH, TIA-YEaehT @A AT 3" TTawur srava fomd e SIueht I Uk SAran T8t
Gl

. W T % g8-2 W Fuif| m # o srgwuieR ao1 weR-gfeaet i J@en A, B, C A1 D sS4 ™

Te-YfEehT % STER0T U8 % FW Il TR IAfRd 2, ﬁw@aqaaﬁaa?ﬁ/ﬁ?ﬁw@%mawﬁqﬁm
FeTE i | I Uk W AIA-YIeaeht JEerr 3ifehd TE i TS TAq AT 3ifehd i W I U=k T qE
WeATRA AR BET

. T I % uiE 3—(A), (B), (C), (D) 3R (E) 8 W & ™ & 30 ¥ A god 9 hae Tk IW H A

3 370 I T T 37fohd ot | T T o foTT haTet Teh & 3T AT ¢ | TTIehT et THTS 27Tk R ST 0k |
siford &t 3T W R wom)

IW TH H YT T G F G Ui 99 39 TR 91 70 e—@), B), ©, @ 3R @)1 ¥ F IW A & fou

U] T T2 % HAA ek g ol et /el Tl & ard-uise o1 § Ffgd w6 31 7% 791 & o shaa wh

I A G TR W AT I 05 § Fafega il 379 I 0ok H A Tk T o foIe vk 9 sAfees g9 # e o 2,

Al ATIHT I TTAd HHT TR | ST U=k H I okl TITEd o o ToT0 shalel shiedt/<ieit TTE & SicA-qig =

& AR w | TR it TER T FwE-Fe Uan uREdd 7 T8 g

IEfigaR T Ui U9 o Teld IR o ot 997 2 Ford o6 T o1kl 1 ueh-witemd o7 § g % &9 H HeT SR |

TRA-GIETHT § IS T FISAT AT I HAT T & | T -fEhT 3R IT T bl T et § wlien wad ¥ e

MM T o ST | TR & THIIA U I U SA1eTeh hi STAY | § | 36 a1G TTIeR! 2101 TR -gfeqert 310 |1

oA S A e R

FH F AL | U fRet ww w1 oft wem T8 R W T W AR o fyeshgER wiars S HeRdt @ S9an SATIeRt

T g oo S weRar 21
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Note : English version of the instructions is printed on the First Page of this Booklet.
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